[EASTE,;

EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

N

SHEET

PENT A ’ R oes. J. ROBERSON
soeno. 11-1461 4
4-POST RACK owre  6/24/15

1 0 SHEETS

OF

SEISMIC SUPPORTS & ATTACHMENTS

b

CONCRETE SLAB

CG.NT. = 13456 LB
(INCLUDES CONTENTS)

cé.

MAXIMUM WEIGHT SHOWN.

1 FORCES ARE DETERMINED PER 2013 CALIFORNIA BUILDING CODE AND ASC
STRENGTH DESIGN IS USED. f(@p = 25, Ip = 15, Rp = 60, Qo= 25, z/h = 0)

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS
FOR DESIGN. THIS PREAPPROVAL ENCOMPASSES ALL WEIGHTS UP TO THE

3 STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE
SUPPORT STRUCTURE DESIGNED TO SUPPORT WEIGHTS AND FORCES
SHOWN IN COMBINATION WITH ALL OTHER LOADS THAT MAY BE PRESENT.

BRACKET PROVIDED BY PENTAIR
(ASTM AIOIl €5 TYPE B, Fy=30 KSI MIN)
(SEE SHEET 10 OF 10)
USE 4- 5/8"0 HILTI KB-TZ
EXPANSION ANCHORS
. (MIN. EMBED. (ha) = SEE SCHED)
¢ W/ STANDARD WASHERS
NORMAL WEIGHT CONCRETE
/ (F'c = 3000 PSI MIN)
— . —— -
\ \ \Vf i
Sz
SRS T T To T
SR
Sl FRONT ELEVATION SIDE ELEVATION
ANCHORS
MAX Sps |  TYPE DAM |EFF EMBED| aQTY Tse | To | W DETAL
180 HILTI KB-TZ 5/8" 3125 4 5 2208 570 |SHEET50OF 10
220 HILTI KB-TZ 5/8" 4 4 6’ 3382 836 |SHEET 6 OF 10
* VALUES INCLUDE Qs
NOTES:

L ]

_ See the product details here

RSPSupply - 1-888-532-2706 - https://www.RSPSupply.com



https://www.RSPSupply.com
https://www.rspsupply.com/p-62114-hoffman-e4sdr19fm45u-870x270x400-network-seismic-4-post-open-frame-rack.aspx

/5‘ Ejj@ EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.EquipmentAnchorage.com

\w >4

—/ PENTAIR oes J. ROBERSON oHezT

JoBno. 11-1461 5

4-POST RACK DATE 6/24/15 10
OF SHEETS
SEISMIC SUPPORTS ¢ ATTACHMENTS MAX Sps € 150 CONCRETE SLAB

26.715"
225" 22.25" 225"
EQ EQ

USE 4- 5/6"¢ HILTI KB-TZ

‘ EXPANSION ANCHORS
5 (MIN. EMBED. (he) = 3.125")
S W/ STANDARD WASHERS
[ ﬂ \é CG.WT. = 1346 LB
o | (INCLUDES CONTENTS)
. / (v = 42)
= o
Q NQ 2y
S
G
[NN}
—t] [°]
o
SN
|
PLAN AT BASE
LOADS. PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 150, @p = 25, Ip = 15, Rp = 60, Qo = 25, /h = 0)
WEIGHT = 1348 LB
CSF?T“Z&TT%RFSER% (_E“E;‘)SSVJ'G‘“’_V?OZ 5;78 LB BOLT SPECS: 5/8' HILTI KB-TZ (het= 3125)
Y = b = ¢T= 0756Nn = 2508 LB/BOLT  (TENSION)
BOLT FORCES: ¢V= oVh = 4940 LB/BOLT (SHEAR)
TENSION (1)
0078#(42") DOTBHAY)  1348#(09) - 404#
T _ | _22r8Ha) ] -
U MUENLM |:2 BOLTS (3137") x(0 B)J ¥ 2 BoLTs (245" 4 BOLTS 2205 L BUBOLT {dan
( HORIZ. - SIDE TO SIDE ) ( HORIZ. - FRONT TO BACK ) ( WEIGHT(09) - Ev)
SHEAR (V)
_ o078
Vi MMM = Toos - 570 LB/BOLT (MAX)
UNITY CHECK:
Ty Vu 2208\ (570 _
( o ) +< Y ) <12 (—2508>+<4940> 100<12 .°. OK

_#""+,  RSPSupply - 1-888-532-2706 - https://www.RSPSupply.com
=2 = -, See the product details here



https://www.RSPSupply.com
https://www.rspsupply.com/p-62114-hoffman-e4sdr19fm45u-870x270x400-network-seismic-4-post-open-frame-rack.aspx

EA ’A’@E

EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

xw >4
i PENTAIR oes J ROBERSON sHEET
JoBno. 11-1461 6
DATE 6/24/15 oF 1 0 SHEETS
SEISMIC SUPPORTS ¢ ATTACHMENTS 150 < MAX Sps € 2.20 CONCRETE SLAB
26.715"
225" 22.25" 225"
- EQ -l EQ -
USE 4- 5/8"¢ HILTI KB-TZ
| _ EXPANSION ANCHORS
:T\_ (MIN. EMBED. (het) = 4")
BN @/ W/ STANDARD WASHERS
| ﬂ \— CE. NWT. = 1348 LB
o _——— (INCLUDES CONTENTS)
= o
g S 11
SRS
<
[NN}
—to] [°
o
Q
|

PLAN

AT BASE

LOADS: PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10,

WEIGHT = 1348 LB
HORIZONTAL FORCE (Emn) = 248Wp = 3343 LB
VERTICAL FORCE (Ev) = 044Wp = 593 LB

BOLT FORCES:

STRENGTH DESIGN IS USED (Sps = 220, @p = 25, Ip = 15, Rp = 60, Qo = 25, 2/h = 0)

BOLT SPECS: 5/8’¢ HILTI KB-TZ (het= 4")
¢T= 075¢Nn = 3632 LB/BOLT  (TENSION)
¢V= ¢Vn = 4940 LB/BOLT  (SHEAR)

TENSION (T)
3343#(42") 3343#(42") 1348#(0.9) - 593#
T, = — 3 - = 2 LB/BOLT (MAX
U MMM |:2 BoLTs (3137") x{ )J ¥ 2 BoLTs (245" 4 BoLTS 38 (MAX)
( HORZ - SIDE TO SDE) ( HORZ - FRONT TO BACK ) ( WEIGHT(09) - Ev)
SHEAR (V)
_ 3343# _
Vi MMM = T sors - 836 LB/BOLT (MAX)
UNITY CHECK:
Tu Vu 3382 836\ _ .
(1) () s (522 (59 o o

- See the product details here

. RSPSupply - 1-888-532-2706 - https://www.RSPSupply.com



https://www.RSPSupply.com
https://www.rspsupply.com/p-62114-hoffman-e4sdr19fm45u-870x270x400-network-seismic-4-post-open-frame-rack.aspx

EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

PENTAIR oes. J. ROBERSON SH?T
sosno.  11-1461
4-POST RACK oare  6/24/15 o 10 sucers
SEISMIC SUPPORTS ¢ ATTACHMENTS CONCRETE SLAB ON METAL DECK

CG. NT. = 1348 LB
(INCLUDES CONTENTS)

‘ — BRACKET PROVIDED BY PENTAIR
(ASTM AlOIl €5 TYPE B, Fy=30 KSI MIN)
(5EE SHEET 10 OF 10)

USE 4- 5/8"¢ (A36) THREADED RODS
THRU FLOOR W/ STANDARD WASHERS

N
<~
NA. OR SAND L.
CONC. (3000 PSI MIN.)
\ 2 J] } [ |
>\ >\ \ A
REFER TO SHEET 9 OF 10
FOR ADDITIONAL DETAILS
Ti Ti
L L Tu = 2198 LB/BOLT (MAX) ’ ’
FRONT ELEVATION Vu = 556 LB/BOLT (MAX) SIDE ELEVATION
VALUES DO NOT INCLUDE Q
NOTES ( y

1. FORCES ARE DETERMINED PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED. (Sps = 220, @p = 25, p = 15, Ro = 60, Qo= 25 z/h < 1)

HORIZONTAL FORCE (En) = 165 Wp
HORIZONTAL FORCE (Emn) = 4.13 Wp (FOR CONCRETE ANCHORAGE)

VERTICAL FORCE (Ev) = 044 Wp
2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS
FOR DESIGN. THIS PREAPPROVAL ENCOMPASSES ALL WEIGHTS UP TO THE
MAXIMUM WEIGHT SHOWN.
3 STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE

SUPPORT STRUCTURE DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN
IN COMBINATION WITH ALL OTHER LOADS THAT MAY BE PRESENT.

cG.

#“"+,  RSPSupply - 1-888-532-2706 - https://www.RSPSupply.com

=2 = -, See the product details here



https://www.RSPSupply.com
https://www.rspsupply.com/p-62114-hoffman-e4sdr19fm45u-870x270x400-network-seismic-4-post-open-frame-rack.aspx

/5‘ Ejj@ EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.EquipmentAnchorage.com

\— PENTAIR oes J. ROBERSON s"é’
weno. 111461
4-POST RACK oare  6/24/15 o 10 sucers
SEISMIC SUPPORTS & ATTACHMENTS CONCRETE SLAB ON METAL DECK
26.15"
225" 22.25" 225"
EQ EQ

‘ USE 4- 5/8"0 (A36) THREADED RODS
/" THRU FLOOR W/ STANDARD WASHERS

) j \i CGE. NT. = 1346 LB

| —— (INCLUDES CONTENTS)
(Y = 42")

&5!"

39.81"
22.56"
‘ EQ
|

EQ

&5!"

PLAN AT BASE

LOADS: PER 2013 CALIFORNIA BULLDING CODE AND ASCE 7-10.

STRENGTH DESIGN IS USED (Sps = 220, @p = 25, b = 15, Rp = 60, Qo = 25, zh < 1)
WEIGHT = 1348 LB
HORIZONTAL FORCE (En = 165Wp = 2224 LB

HORIZONTAL FORCE (Emn) = 413Wp = 5567 LB BOLT SPECS: 5/8"s (A36) THREADED ROD
VERTICAL FORCE (Ev) = 044Wp = 593 LB 7= 10016 LB/BOLT  (TENSION)
TENSION (T)
0004#(42") DO2A4#(42)  1348#(09) - 5934
Towoaun= | —2224#02) : _
U A [2 souTs (3137 m} " 2 sours (045 4 BoLTS 2198 LB/BOLT (MAX)
( HORIZ - SIDE TO SDE ) ( HORIZ. - FRONT TO BACK ) ( WEIGHT(09) - Ev)
SHEAR (V)
VL M = %ﬁ; - 556 LB/BOLT (MAX) (PER AISC J37, LESS THAN 20% STRESS)

_#""+,  RSPSupply - 1-888-532-2706 - https://www.RSPSupply.com
=2 = -, See the product details here



https://www.RSPSupply.com
https://www.rspsupply.com/p-62114-hoffman-e4sdr19fm45u-870x270x400-network-seismic-4-post-open-frame-rack.aspx

/5‘ EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.EquipmentAnchorage.com
\M > 4
// PENT A ’ R pes. J. ROBERSON SHEEF
JoBno. 11-1461 9
DATE 6/24/15 oF 1 O SHEETS
SEISMIC SUPPORTS & ATTACHMENTS S D! CONCRETE DETAIL
H JiN]
B 24" MIN | 5 5
Sl e NA. OR SAND LA,
Rl = T CONC. (3000 PS| MIN.)
S EQUIPMENT
il /
., X
Yz &
v ﬂ-— -\l
*r |
i f
+— : 2 " MAX
= |% f: Vi sRuT MIN 20 GA OFFSET
AP . STEEL W-DECK (TYP)
USE 3/8"0 HILTI KB-TZ '#;N M'lN FLUTE
EXPANSION ANCHORS ¢
(MIN. EMBED. (her) = 2°) HEX NUT TOP ¢ BOT OF FLANGE
(2 ANGHORS: MIN PER STRUT) (TYP) AT CONDITIONS WHERE NUT FLUTE DETALL
CANNOT BE PROVIDED AT TOP SIDE
[3 X3 X1/4" X1-5"MN OF STRUT, PROVIDE TAPPED HOLE
(A36) AT EACH ANCHOR THROUGH STRUT FLANGE.
MIN STEEL DECK REQUIREMENTS AND STRUT DETAIL
DEMANDS: (BASED ON UPPER FLOOR)
Tu=2198 LB/BOLT
Vu = 556 LB/BOLT
VustRUT = 0.7Vu = 0.7(5564) = 389 LB/STRUT
CONCRETE ANCHORS AT STRUT BOLT SPEC: 3/8"¢ HILTI KB-TZ: (hef= 2" MIN)
V4 STRUT = Qo Vu STRUT = 25(3894#) = 973 LB/STRUT ¢V= 938 LB/BOLT
USE 2 BOLTS MIN
V4 BOLT = 973#/(2 BOLTS) = 487 LB/BOLT
STRUT DESIGN (L3 X 3 X 1/4": S = 0569 ir®, A36)
Mu STRUT = %#(M) = 7693"#
b .3 ¢ osa/E - osa /200 |5
t 025 Fy 36
< «Mn =15 Fy Sc
= 15(36000)0.8 X 0569)
= 24580"#
#Mn = 09Mn = 09(24580") = 22123"# > 7693"#.°. OK

_#""+,  RSPSupply - 1-888-532-2706 - https://www.RSPSupply.com
=2 = -, See the product details here



https://www.RSPSupply.com
https://www.rspsupply.com/p-62114-hoffman-e4sdr19fm45u-870x270x400-network-seismic-4-post-open-frame-rack.aspx

/5‘ Ejj@ EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.EquipmentAnchorage.com

\mwaf//

P E NT A ’ R oes. J ROBERSON s
JoBno. 11-1461 1 O
4-POST RACK DATE 6/24/15 10
OF SHEETS
SEISMIC SUPPORTS & ATTACHMENTS BRACKET PROVIDED BY PENTAIR BASE DETAIL

(ASTM AlOII C5 TYPE B, Fy=30 K5I MIN)

4"X4"X|/4" THK (A36) MOUNTING PLATE

(PROVIDED BY PENTAIR) j
(4 PLACES)
L; ;A I I_lﬂ_ _:J |
| 22:25" - ! 22.86" !
ELEVATION SIDE
20.15"
225" 22.205" 225"

iy
SN
3 @
WELD WASHER
1/8l/112\ (TYP)

=~ RS
Q RN

B S (4)- 11/16" HOLES

TP

N1

/8

\

TYP
b IZ

o
—
>
=

LOADS TO BASE: (BASED ON UPPER FLOOR DEMANDS)
Tu= 2198 LB/BOLT (NON-PRYING)
Vu = 556 LB/BOLT

CERT-00029 A

L ]

=" *.  RSPSupply - 1-888-532-2706 - https://www.RSPSupply.com
=2 = -, See the product details here



https://www.RSPSupply.com
https://www.rspsupply.com/p-62114-hoffman-e4sdr19fm45u-870x270x400-network-seismic-4-post-open-frame-rack.aspx

